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1. Which Scientist wrote a book called “A
Brief History of Time”?

(A) Stephen Hawking
(B) Edward Jenner
(C) Meghnath Saha
(D) Pasteur

2. Shanti Swarup Bhatnagar Award is
associated with

(A) Sports

(B) Science and Technology
(C) Agriculture

(D) Film

3. Summer Solstice in the Southern
Hemisphere occurs on

(A) 22nd December
(B) 23rd September
(C) 21st June

(D) 21st March

4. Which of the following is the oldest Trade
Union organisation of India?
(A) INTUC
(B) CITU
(C) AITUC
(D) BMS

5. Whereis the Indian Council of Agricultural
Research located?
(A) Dehradun
(B) Hyderabad
(C) New Delhi

(D) Itanagar

1. com Resi ‘q e 2 o DI Aty 435
R etz ?
(A) For 2fd
(B) OSTNG (&I
(C) =% A2
(D) N
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(A) EIia
(B) freal @ &
©) I
(D) Bfbg
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(B) 23 GILBHA
(C) 21 A
(D) 21 ¢+t 96
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6. What is ‘Zero hour’?

(A) When the proposals of the opposition
considered

(B) When matters of utmost importance
are raised

(C) Interval between morning and
afternoon sessions

(D) When Money Bill is introduced in the
Lok Sabha

7. Whichof the following rocksis transformed
into marbel?
(A) Granite
(B) Limestone
(C) Peat
(D) Shale

8. Which of the following is not a source of
renewable energy?
(A) Hydroelectricity
(B) Solar energy
(C) Fuel cell
(D) Wind energy

9. The term ‘Sufi’ is derived from
(A) atype of poetry
(B) atype of garment
(C) alanguage
(D) the name of a place

10. Solar eclipse occures when
(A) Earth comes between Sun and Moon.
(B) Moon is at right angle to the Sun.
(C) Moon comes between Sun and Earth.
(D) Sun comes between Moon and Earth.
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11. The chemically inactive gas present in the
atmosphere is

(A) nitrogen

(B) argon

(C) water vapour
(D) oxygen

12. The head of the Reserve Bank of India is
designated as the

(A) Chief Executive Officer
(B) Managing Director

(C) Chief Banking Officer
(D) None of the above

13. India started its Five-Year Planning with
effect from the year

(A) 1955
(B) 1951
(C) 1960
(D) 1965

14. Disinvestment in Public Sector is called
(A) Liberalisation
(B) Globalisation
(C) Industrialisation
(D) Privatisation

15. The Judges of Supreme Court take an oath
before entering upon office, conducted by

(A) Chief Justice of India
(B) President or Vice-President

(C) President or some person appointed
by him or her

(D) Prime Minister

11. e Goife v AR TP =
(A) TGS
(B) ©I5
(C) Telg Ao
(D) wifce

12. SIS R{ErS PE A4 I W
(A) a3 st
(B) Il ~Afpiere
(C) BT e sl
(D) ©olaa @IHE w3

13. SiAwen Si%diEe sfdTaw v e wdeal
8T e 7+

(A) 1955
(B) 1951
(C) 1960
(D) 1965
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(D) fesiosae (sirenizmmm)
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16. The vitamin whichis generally excreted by
humans in urine is

(A) Vitamin A
(B) Vitamin D
(C) Vitamin C
(D) Vitamin A and D

17. The Speaker of the Lok Sabha is elected by
(A) all the members of Parliament
(B) the people directly
(C) all the members of Lok Sabha

(D) the members of the majority party in
the Lok Sabha

18. In India, maximum number of workers are

employed in
(A) Textile industry
(B) Iron and Steel industry
(C) Petrochemical industry
(D) Automobile industry

19. The famous painting ‘Satyam Shivam
Sundaram’ was prepared by

(A) Mahendranath Singh
(B) Nand Kishore Sharma
(C) Sivnandan Nautiyal
(D) Raj Kapoor

20. Calcium content is maximum in
(A) Bajra
(B) Maize
(C) Sorghum
(D) Wheat
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21. Dialysis is used for people with defective
dneys. It involves the process of

(A) adsorption

(B) osmosis _
(C) electrophoresis
(D) diffusion

ki

22. Consider the following statements:

(D 2G spectrum uses bandwidth of
30-200 KHz.

(II) 3G spectrum uses bandwidth of
15-20 MHz.

(IIm) 4G Spectrum uses bandwidth of at
least 40 MHz.

Which of the statements given above is/are
correct?

(A) All of these
(B) (I) and (ID
(C) () and (11
(D) Only (Im)

23. Which one of the following is the oldest
Grand Slam in the World?

(A) Wimbledon
(B) French Open
(C) Australian Open
(D) US Open

24. The largest flower in the world is
(A) Lotus
(B) Rafflesia
(C) Giant Cactus
(D) None of the above

25. Which of the following is a popular
pProgramming language for the developing
multimedia web pages?

(A) COBOL
(B) Java

(©) BASIC
(D) Assembler

21. 4R ReeF-GiNeE o SRIEe ey
<91 29 | 2 el wiYs AT

(A) Afese

(B) WA

(C) TATGITTIELP
(D) oA

22, Fs@ie RRfoehk Revat o ¢
(1) 2f& 3= (2G spectrum) 30-200 KH;
[0 JI2R I |

() 3f& & (3G spectrum) 15-20 MHz
Pree YT A |

(1) 4f& 3R (4G spectrum) ST%® 40 MHz,
JIGTRY LT T |

Coity rent Rgfen iafs / @imef siw:
(A) FReE

(B) (@) e )
©) aheam
(D) PTG (III)

23. w3 @ Rioes s Ao T J 2
(A) TZFetes

(B) F% ety

(C) e Srofy
(D) T® @5 wrofy

24, Tous T o1 2w
(A) =g
(B) st
(C) &R w51

(D) =R @A

25, FreeRe SRR T o Srmae nfin
ST (o Ty T Tl cottafRe wrgl?

(A) @RS

(B) &l

(C) c&F=
(D) SHICEER
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26. Who was the first Home Minister of free
India?
(A) Sardar Vallabh Bhai Patel
(B) Mahatma Gandhi
(C) Jawaharlal Nehru
(D) Subhas Chandra Bose

27. The term ‘Congress’ was derived from
(A) the history of North America
(B) Irish history
(C) British Commonwealth
(D) the name of the American Parliament

28. In which field Pulitzer Award is given?
(A) Science and Technology
(B) Literature and Journalism
(C) International Understanding
(D) Environmental Studies

29. ‘Ghumar’ is a folk dance of
(A) Gujarat
(B) Punjab
(C) Rajasthan
(D) Tamil Nadu

30. Amnesty International is a
(A) Human Rights group
(B) UN agency to fight global terrorism
(C) Refugee Camps in Croatia
(D) Branch of the World Bank

C-7
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31. Troposphere is the hottest part of the
atmosphere becayge
(A) itis closest to the Sun.
(B) there are charged particle in it.
(C) it is heated by Earth’s surface.
(D) heat is generaed in it.

32. The first fully Indian Bank js
(A) Canara Bank
(B) Punjab National Bank

(C) State Bank of India
(D) Central Bank of India

33. Vande Mataram was first sung at the session
of the Indian National Congress in

(A) 1886
(B) 1892
(C) 1896
(D) 1904

34. First non-citizen to receive Bharat Ratna
was

(A) Nelson Mandela

(B) Abraham Lincoln

(C) Khan Abdul Ghaffar Khan
(D) Mother Teresa

35. Who were the first to issue gold coins in
India?
(A) Shakas
(B) Hunas
(C) Cholas

C-8

31. GreefFEad NS GO WX e
(A) &6 T oo |
(B) 4C® SHIE Tl AR |
(©) «f5 AR 7 7 Te 7 |
(D) & N ©17 TeAT = |

32. &l o)l OISR KT —
(A) PG TF
(B) *NGIT T iF
(C) CBB KT &7 Bz
(D) CTHIE i o 2y

33. ©IeR W waeE SN AR
TSN M1 aMeqt Zrafe

(A) 1886
(B) 1892
(C) 1896
(D) 1904

35. PN &AW SIS iy B5ET ez ¢
(A)

(B) =
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(D) Indo-Greeks

(D) ¥+-J
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36. Who built the famous Sanchi Stupa?
(A) Ashoka
(B) Chandragupta Maurya
(C) Ajatshatru
(D) Shashank

37. Whatisthe minimun_l calorie intake decided

by the Planning Commission for rural and urban
areas?

(A) 2400 and 2100
(B) 2100 and 2400
(C) 2400 and 2200
(D) 2100 and 2200

38. ‘My Life’ is an autobio graphy of
(A) Dr. AP.J. Abdul Kalam
(B) Dr. Rajendra Prasad
(C) Bill Clinton
(D) Hillary Clinton

39. The most malleable metal is
(A) Silver
(B) Gold
(C) Aluminium
(D) Sodium

40. The first woman to scale Mount Everest
Wasg
(A) Arati Saha
(B) Asha Agarwal
(C) Bachendri Pal
(D) Rita Faria
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41. The largest man-made canal in the world is

(A) Rhine Canal

(B) Panama Canal
(C) Suez Canal

(D) None of the above

4%. The first Lokpal Bill was introduced in the
Parliament in

(A) May, 1968
(B) May, 1980
(C) Tuly, 1982
(D) June, 1985

43. Which of the following is not a folk dance
of Himachal Pradesh?

(A) Dhaman
(B) Chhapeli
(C) Mahathu
(D) Dhakoni

44. Which organ of UNO is considered as
World Parliament?

(A) General Assembly

(B) Security Council .

(C) International Court of Justice

(D) Trusteeship Council

45, 2020 Olympic will be held in
(A) Japan
(B) London
(C) Germany
(D) Rome

C-10

42, sia @i e T SAEIeN ol xafeE
(A) G, 1968
(B) &, 1980

(C) g, 1982
(D) I, 1985

43. S5 D BAIce St @R T e
(A) €99
(B) =eife
(C) T=Y,
(D) g

4. e o wreAfl R 1o Rt Ricafoe 2
(A) Mat=el sifd
(B) fzsiat sifeam
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46. Ministers may be chosen from

(i) Lok Sabha

(ii) Rajya Sabha .
(ii1) outside the Leglslatun? |
Find the right answet by using the codes:

(A) Only ()

(B) Only (ii)

(C) (i) and (ii)

(D) (i), (ii) and (iii)

47. Whicharticle separates Jammu and Kashmir
from rest of India?
(A) Article 370
(B) Article 360
(C) Article 268
(D) Article 361

48. Which falls down fastest in vacuum— a
feather, a wooden ball or a steel ball?

(A) A wooden ball

(B) A feather

(C) A steel ball

(D) All of them with same speed

49. Which of the following pairs belongs to the
category of cold-blooded animals?

(A) Birds and Monkeys
(B) Snakes and Birds
(C) Frogs and Snakes
(D) Rats and Lizards

th50- Which of the following is responsible for
€ energy released by Sun?

(A) Fission

(B) Fusion

(C) Chemical section

(D) Gravitational collapse
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51. 12, 16, 32, 68, 132, ?
(A) 196
(B) 232
(C) 276
(D) 213

(52 Suresh borrowed Rs. 800 at 6% and Naresh
bc.)rrowed Rs. 600 at 10%. After how much time,
will they both have equal debts? (at simple interest)

1
A) 15=yrs.
(A) 53yrs

1
B 2 vrs.
(B) 142yrs

1
C) 18= yrs.
© 83yrs

(D) 16% Y.

53. A sum was put at simple interest at a certain
rate for 3 years. Had it been put at 1% higher rate,
it would have been fetched Rs. 5,100 more. The

sum is
(A) Rs. 1,70,000
(B) Rs. 1,50,000
(C) Rs. 1,25,000
(D) Rs. 1,20,000

54. What would be the simple interest obtained
on an amount of Rs. 8,930 at the rate of 8% per
annum after 5 years?

(A) Rs.5413
(B) Rs. 2,678
(C) Rs. 3,572
(D) Rs. 4,752

55, The LCM of two numbers is 2376 while the
HCF is 33. If one of the numbers is 297, then the
another number is

(A) 216
(B) 264
(C) 642
(D) 792

C-12

51. 12, 16, 32, 68,132, 7
(A) 196
(B) 232
(C) 276
(D) 213

52. wsaoﬁmmmﬁ%wﬁﬁimm
Bt 4K S 10%W|wmﬂ@mw

ARl <Afel ST A2 (T )

(A) 15%—3@

(B) 14%?@'
©) 18%%‘&

(D) 16%@31

53. frg “ifFwel Bit @3l S = e
sl 3 2 3 TEd & | A 1% @R o o
7141 TS ©IZE 5,100 Sl wfefe wAvew @9 | ¢

wdq e
(A) 1,70,000 Tzt
(B) 1,50,000 Gt
(C) 1,25,000 i<t
(D) 1,20,000 Br<st

54. 8,930 it AIRFF 8% 7= o qcd 5 I
A% (b I 37 F© 2N A 2

(A) 5413 il
(B) 2,678 bt
(C) 3,572 %=
(D) 4,752 50!

55. B WO AL, 2376 =R eyt L
LoML8. 331 G L 297 20E, wopg HAR Fo 2
(A) 216

(B) 264
(C) 642
(D) 792
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56, 3 men can do a piece of wm.'k in 18 days,
¢ can also do the same work in 18 days. In
got::);nany days, 4 men and 4 boys together will
finish the work?
(A) 10 days
(B) 6days
(C) 12 days
(D) 9 days

57. Acandoapiece of workin4 daysand B can
complete the same work in 12 days. What is the
number of days required to do the same work
together?

(A) 2 days
(B) 3 days
(C) 4 days
(D) 5 days

58. Before 7 years, the ratio of agesof Aand B

was 3 : 4. After O years, ratio of their ages will be -

7: 8. The present age of B will be ,
(A) 16 years
(B) 19 years
(C) 28 years
(D) 23 years

39. A father is nine times as old as his son and
themotheris eight times as old as the son. The sum

of the father’s and the mother’s age is 51 years.
What is the age of the son?

(A) 7 years
(B) 5 years
(C) 4 years
(D) 3 years

60. A does 20% less work than B. If A can

complete a piece of work in 7% hrs, then B can do
1t in

(A) 4 hrs

(B) 6 hrs

(C) 8 hrs

(D) 10 hrs
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57. AM@%W4%@W%WB
ﬁwmwmuﬁwmﬁmam
el T FOME ©f 7T 21 2

(A) 2 fae

(B) 3 fats

(C) 4 e

(D) 5w

58. 7 qq ot A 93 B-49 TR i
3:41 9 IF AT O IO TAS 7 7 : 8|
B-43 TGN 779 F(A

(A) 16723
(B) 19 7&x
(C) 28 7=
(D) 23 =7

59. fotete 1 s{tas o™ 9 wd 972 rete 7
"6 WO 8 wdl| Pl € o TweE @isres
51 =T | @F I Fo ?

(A) 73=7
(B) 53%3
(C) 43=7
(D) 33=7

60. A, B 93 35 20% I e 07 | I A
P e 7% YN (1T I, OIZE B €3 e

(A) 495
(B) 6 9%
(C) 81
(D) 109%™
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61. Inwhat Proportion musta grocer mix wheat
at R_s. 2:04 perkgandRs, 2-88 perkgso asto make
4 mixture of worth R, 2:52 per kg?

(A) 2:3
B) 3:2
©) 5:3
(D) 3:4

-62. AsumofRs, 300 isdivided among P, Qand
Rinsucha way that Q gets Rs. 30 more than P and
R gets -Rs. 60 more than Q. Then, ratio of their

63. Ifcostof15 €ggsisRs. 75, then find out the
cost of 4 dozen eggs.

(A) Rs. 240
(B) Rs. 300
(C) Rs. 150
(D) Rs. 185

64. P,QandR start abusiness. Pinvests 3 times
. 2
as much as Q invests and Q invests 3 rd as much
as R invests. Find the ratio of capitals of P, Q and
R.

(A) 3:2:6
(B) 2:6:3
) 6:2:3
D) 5:2:3

65. Jagatram, a milk seller has cerEain guantily
of milk to sell. In what ratio, he should mix water
to gain 5% by selling the mixture at the cost price?

(A) 1:10 :
(B) 125

(C) 1:20

(D) 1:15

C-14

61. e it 2:04 B 2ffS TS WOTH 9 3¢
2-88 51! 2lfs (RRRTIT o1 (oI ST fiietel <y
s e 2f% @l 7 2-52 Bl T2

(A) 2:3
(B) 3:2
©) 5:3
(D) 3:4

62. 300519 P, Q, R-93 W2 YOI ©l5f 57
el 7, Tt Q, P Sea! 30 Bt (& i w2
R, Q Stol1 60 Givl @+ | Oiage i wieeig

S 2F
(A) 2:3:5
(B) 3:2:5
) 2:5:3
(D) 5:3:2

(A) 240 Bt
(B) 300 Bl
(C) 150 B
(D) 185 SR

64. P.Qnﬂazkaaﬁwwmiqcamﬁ
ﬁﬁmﬁmmwswﬁﬁmﬁmmkm
ﬁﬁzmmqm%ww%ﬁwwmp,qm
R-G50 F40T wyoiis s ¢

(A) 3:2:6

(B) 2:6:3

©) 6:2:3

D) 5:2:3

65. Tl 9% iy Ryzpope g i e
it R wmmwmwmmmﬁaﬁ

TG R T 59 M 2

(A) 1:10
B) 1:5
©) 1:20
D) 1:15
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66. If 1+ ,_lile , then what is x equal to?
l+ﬁ"‘.
3
7
10
13
10
11
10
17
10
67. Today is Monday. What will be the day
after 64 days?
(A) Thursday
(B) Wednesday
(C) Friday
(D) Tuesday

(A)
(B)
©

(D)

68. The mean temperature of Monday to
Wednesday was 37°C and of Tuesday to Thursday
was 34°C. If the temperature on Thursday was

4/5 that of Monday, then the temperature of
Thursday was

(A) 35-5°C
(B) 34°C
(C) 365°C
(D) 36°C

69, %ofl%of75%0f540=?

(A) 378
(B) 756
(©) 252
(D) 332

70. Which one amo

T ng the following is the

(A)
(B)

(©)

il Bl el

(D)
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66. T x+—L
.

1
p V2
"3

7
10
13
10
1
10
17
10

67, W (ST GINRIR 20, 99 64 T Aa F

(A)
(B)
©)
(D)

A7

(A) FTHifea
(B) IQ=

(C) w&TAR
(D) W

68. G (AT L[IF-A9 516 Tawet 37°C 93]

WA (AT FHASAR-97 o6 Txeet 34°C)|
T JEifedia-a3 Taeel GINRIER Sweoid 4/5 =,

(A) 35:5°C
(B) 34°C |
(C) 36:5°C
(D) 36°C
2

% g lg g 75% 93 540 = ¢

(A) 378
(B) 756
(C) 252
(D) 332

70. FefReeRm s @Rl TRem T2
(A)

69.

(B)
(©

Gls »lw x|z el

(D)
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71. Atraintakes9secondstocrossapole. If the
Spﬁfed- of the train is 48 kmv/hr, then length of the
train is

(A) 150 m
(B) 120 m
(C) 90m
(D) 80 m

72. If the speed of a swimmer in still water is
9 km/hr, find the downstream speed of the
swimmer, when the riveris flowing with the speed
of 6 km/hr.

(A) 15 km/hr
(B) 18 km/hr
(C) 3 km/hr
(D) 12 km/hr

73. A 400 m long train takes 36 sec. to cross a
man walking at 20 km/hr in the direction opposite
to that of the train. What is the speed of the train?

(A) 20 km/hr
(B) 30 km/hr
(C) 15 km/hr
(D) 11 km/hr

74. A train covers 90 m in passing a standing
man. Find the length of the train.

(A) 20m
(B) 87 m
(C) 71 m
(D) 90 m

75. X covers 1 km in 8 min 40 sec while Y
covers the same distance in 10 min. By what
distance does X defeat Y?

(A) lB%m S

(B) 133%m
© 133%111 o

D) 133% m

C-16

FH© 9 AT

71, @ G D et oo™ et

[ ok
(A) 150m
(B) 120 m
(C) 90 m
(D) 80 m

7. e AretFa o o A 3 9 km/hr 2,
e o Eies SEE A [ P I
g 92 Sife 6 kmy/hr.

(A) 15 km/hr
(B) 18 km/hr
(C) 3 kmv/hr
(D) 12 km/hr

73. €3 400 m WY G 36 CUFS TR (T
G ReTie I 251 v e Ao FHCe, T
35t 1% 20 km/hr | ST GRS F©°2

(A) 20 km/hr
(B) 30 km/hr
(C) 15 km/hr
(D) 11 km/hr

74. @36 G GG TN IfEE TI Sfoww
0 O (03 A1 SO 7% 90m | GAba o7
5w T

(A) 20 m
(B) 87 m
(C) 71 m
(D) 90 m

75. X, 1 km SfS@™ 37 8 . 40 @1, 71w @32
Y, 68 493 iEY SfeEw 01 10 G 1X, Y @ 59
ATy ofifere e e

(A) 13% m

(B) 133% i

©) 133% i

D) 133% m
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What willbethe angle between the hands of
k when the time is at 4:40 p.m.?

(A) 120°

(B) 100°

©) 10°

(D) 130°

76.
acloc

77. A shopkeeper allows a discount of 10% to
his customers and still gains 20% on cost, the
marked price of the article which costs Rs. 450, is

(A) Rs. 600
(B) Rs. 540
(C) Rs. 660
(D) Rs. 580

78. What least number must be added to 1057
to get a number exactly divisible by 23?
(A) 1
B) 3
©) 2
(D) 4

79. How many numbers between — 11 and 11
are multiples of 2 or 3?

(A) 11
(B) 14
©) 15
(D) None of the above

Pﬁg:}i.n Aclassisdividedintotwo secti_ons A'and B.
gaverage of 20 students of section A is 80%
::c{ii Passling average of 30 students of
bothothn B is 70%. What is the passing average of

€ sections?

(A) 72%

(B) 74%

©) 75%

D) 77%

Www.swapno.in
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76. 9f%TS 4-40 pm -« .
w%@wqm%mqu‘%mmm
(A) 120°
(B) 100°
(C) 110°
(D) 130°

77. GG MDA OR AR 10% foiss
e FIETE T 20% S T | @ AT

AT 450 DI, OIF 4T O T
(A) 600 Il
(B) 540 Bi<et
(C) 660 Biw
(D) 580 Bl

78. @IF FEON FAT 105747 K @9 FA0O
(@ TS @orFs Fjefelta 23 =l Kot 2 ?
(A) 1
B) 3
© 2
(D) 4

79, 1193 11 I TG0 PoBH A= 291 397

I@ﬁw? -

(A) 11

(B) 14

(©) 15°

(D) @afT Mg @Nbe 799

80. «3fG vt A @ B 4 G Ol 3531 =27 |
A GTE 20 T Qa9 A9 Q9 80% <32 B
G 30 0 RIS AT T 70% | T Gie=ia
AT QYT Fo?

(A) 72%
(B) 74%
(©) 75%
D) 77%

£
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81. The least number which when divided by
4,6, 8 and 9 leaves zeroremainder in each case and
when divided by 13 leaves a remainder of 7, is

(A) 144
(B) 72
(©) 36
(D) 85

82. X, Y and Z undertake to do a work for

Rs. 6,000. X and Y together do -3— of the work and

rest is done by Z alone. How much should be share
of Z?

(A) Rs. 1,350

(B) Rs. 1,200

(C) Rs. 1,500

(D) Rs. 1,450

83. A dozen pair of socks quoted at Rs. 80 are
available at a discount of 10%. How many pair of
socks can be bought for Rs. 247

(A) 4
®B) 35
© 3
D) 6

84. Find the value of

1 aoa? . 0003 + 0004 10003 19998
9991 +9992+999: +9997+ 9997 + 9997
(A) 5997
B) 5979
(C) 5994
(D) 2997

85. Anita purchased a bicycle at a cost of
Rs. 3,200. She sold it at a loss of Rs. 240. At what
price did she sell the bicycle?

(A) Rs. 2,960

(B) Rs. 2,690 Gt 0%
(C) Rs. 3,440 ;
(D) Rs. 3,360

C-18

81. (I Fues Wi T4 4, 6, 8 AR 9 @Il
olel T3l 27, afSara 0 S8 ATE @R I 13 7=

©i%l 71 28 efforreg 7 Safg AF?
(A) 144
(B) 72 r hsBd
©) 36 1@
(D) 85 nd
=

82. X,Y @2k Z 6,000 51w 936f6 TS 14 &)
&% 21 | X 43R Y G0 0T %wwﬁaﬂmﬁs
IGB Z G (¥ e | 247 TG BIPl IS A7

(A) 1,350 5=l v,
(B) 1,200 51 %/f\/
(C) 1,500 Bt “’Vcﬁ
(D) 1,450 5 X

83. €3 T (GIS! (ISR Sifeid! =7 80 Gt
10% TEHIIGTH ~NeT T | 24 BIFIT T (Sl (e
&7 A AR 2 N

(A) 4
(B)5 . o
() 3
(D) 6

84. W fefa Tz ¢

999%+ 999%+999-;1+999%+999%+ 999% .
(A) 5997 s
(B) 5979
(C) 5994
(D) 2997
85. ol qHfb AiRTIRCT 3,200 Bizet @ e |

7 AR 240 5IF @RI [RiEE 3736 | 37 Bl

T OF At Rifer v e $
(A) 2,960 - o
(B) 2,690 il
(C) 3,440 Bl
(D) 3,360 G

WwWw.swapno.in



C-19

| phone and sold it to
Ram wanted to sell it
What will be Gopal’s

86. Gopal bought a cel
Ram at 10% profit. Then,
back to Gopal at 10% loss.
position if he agreed? .

(A) Neither Joss nor gain
(B) Loss 1%

(C) Gain 1%

(D) Gain 0-5%

\/‘5+%of80=60x%+8

o
(A) 36864 Pt
(B) 46864 ?
(C) 56864 N/
(D) 66864
A
Uy
88. %of%of10f1664=? 5\ q(-v@r\'
# B
(A) 648 b
(B) 762
©) 612
(D) 728

f85'. I_n an examination out of 480 students, 85%
of the girls and 70% of the boys passed. How many

boys appeared in the b 3
€xamunation, if
percentage was 75%2? M . TOURL. ks

(A) 370
(B) 340
(©) 320
(D) 360

o T
in he HCF of three numbers is 23.If they are

he ratio of 1 : 3 . 3, then find the numbers.
(A) 69, 15, 22

(B) 23, 46, 69
©) 25,31, 41
(D) 23,21, 35

(A) =S 1 G frg 279 a1
(B) 1% G T

(C) 1% T

(D) 0:5% &Tre T

87. 7+ %aa 80=60x%+8

(A) 36864
(B) 46864

(C) 56864
(D) 66864

3 g7 297 L a7 1664 = T2

4 6 10
(A) 648
(B) 762
(©) 612
(D) 728

88.

89. I “AwIm 480 T WI-TAT W 85%
Qal 9% 70% B9 A FECE | G A 27 ;W
75% T, TG B A ToAfEe fosi?

(A) 370
(B) 340
(C) 320
(D) 360 .

tn sloyoir |

00. fomfs AT s157.@. 23 | MY TFae
i 1:2: 3, el fefa s
(A) 69,15,22
(B) 23,46, 69
(C) 25,31,41
(D) 23,21, 35
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91. The population of a city is 250000, It is
increasing at the rate of 2% every year. The growth
in the population after 2 years is

(A) 2500

(B) 10000
(C) 252000
(D) 10100

92. If the average ages of Rakesh and Mohan is
15, average ages of Mohan and Ramesh is 12 and
the average ages of Rakesh and Ramesh is 13,then
the age of Mohan is

(A) 16 years
(B) 13 years
(C) 14 years
(D) 12 years

93. The sum of place values of 2 in 2424 is
(A) 4
(B) 220
(C) 2002
(D) 2020

94, One-half of a certain number is equal to
65% of the 2nd number. Find the ratio of 1stto 2nd

number.
(A) 10:13
(B) 8:13
(C) 13:8
(D) 13:10

95. Inaclass of 49 students, the ratio of gir_ls to
boys is 4 : 3. If 4 girls leave the class, the ratio of
girls to boys would be

(A) 11:7
(B) 8:7
() 6:5
(D) 9:8

Www.swapno.in

/V)‘*.
91. T3 *I2c@a TN 250000 | &fS 7% 2% oV
A g 7AW | 2 A2 AN SR Jfa O 22 K
L)
(A) 2500 e ,
(B) 10000 g\)v* S
(C) 252000 &
(D) 10100 \

92. TP AR (R T I 15, (R @R
JCICT TG T 12 QIR AT QR IR0 O 5@

M 13 2, SR IR I 9 2 - \%.4
(A) 1677 8 >
(B) 13727 \d@ﬁf’ﬁ)%@/_
(©) 147z Vo (f@ Y
(D) 1277 ¥ 8 R

93. 2424 3GIBTS 2-97 R WS @ioes

el
(A) 4 &
(B) 220 ‘\&f;}ﬁ;
(C) 2002 '
(D) 2020 RS
g
94, @I 9% WS 2w WYR skt By
R 65%-47 T | 22w 8 TS ey woire
Io? o "\
(A) 10:13 -“}N*@ i!%
(B) 8:13 V)
©) 13:8 v ke
(D) 13:10 “}J\

95. 49 T 2 MY @3 e i e

TR SN 4 - 313 4 T ATt it e sea
Y, Ol AT 8 AT S 21
(A) 11:7
B) 8:7
(€) 6:5
(D) 9:8
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ral of an Army wants to create a

Gene
e U:Aon of square from 36562 army men. ﬁ..fter
B ement, he found some army men remained
a:::::i Then, the number of such army me‘;:
u .
remained unused was _ ‘h\’t&{;j
(B) 65 07\’0 A
(©) 81 u\\
\ \ @:\
(D) 97 R \y
M\p

97. If speed of 3% m/s is converted to km/h,

then it would be Yo
(A) 8 km/h %
(B) 9 kmh :{g,ﬁ %
(C) 10 km/h ( »
(D) 12 km/h

98. A man covered a distance of 12 km in
90 min by cycle. How much distance will he cover
in 3 hrs, if he rides the cycle at a uniform speed?

(A) 36 km
(B) 24 km A
(C) 30km NS Y
(D) 27 km

. 99. A tank can be filled by pipe X in 2 hrs. and
pipe Y in 6 hrs. At 10 a.m., pipe X was opened. At

what time will the tank be filled if pipe Y is opened
atll am.?

(A) 12:45p.m.
(B) 5:00p.m. v
(©) 11:45am. o BN
(D) 11:50 a.m. &/\pw
h-4 =
}f\f P
%

100. To cover 3 distance of 315 km in 2-8 hrs,

C-21
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.96, 9T G 36562
asﬁﬁﬂmwmlmwm;ﬁmﬁﬂg
G SIS (AT (516 | SRITS G )] T 2

(A) 36
(B) 65
(C) 81
(D) 97

97. i 3% mis 7% ToleRo 1 2 kg,
OiReT ©f I
(A) 8 kmvh
(B) 9 kmv/h
(©) 10 km/h
(D) 12 kmvh

98. & & 90 WG FRCHC 50T 12 km 759
oo 0 | ©1R0E 3 9B (1 T Y SO 403
T (7 ARG ST Bl ?

(A) 36 km
(B) 24 km
(C) 30km
(D) 27 km

99. {5 TyIF X 71 %l 2 91T S W @R Y 7
B 6 9517 ©fS 27 | 7P 10 BRI X we1fd cAlet &,
R HiEl ©fe =@ @IF A A Y @t A
11 5/ i = e

(A) 12:45 p.m.
(B) 5:00p.m.
(C) 11:45am.
(D) 11:50am.

100. 315 km 7% S F0S A 2-8 I

h
What should be the average speed of the car? TS, OrgA AT oG aife T e

&) 125 ms ) 112:5 5005
(B) 56
®) 5625 m / (B) 5625 ms
(D; gfﬁ — b (C) 62-5m/s

Sk ¢ (D) 3125 ms

of & —— & A
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